MILLER

CONSULTING
ENGINEERS

2X6 WOOD FRAMED WALL

| EXPIRES: 6-30-2024 |

STRUCTURAL ONLY

MCE PROJECT 230196

VA 41@11"=3

MEZZANINE STAIR PLAN
REF: 2/A201

This review is only for general conformance with the design
concept of the project and with the information given in the
contract documents.

NO EXCEPTIONS TAKEN [ ] REVISE & RESUBMIT

[ ] MAKE CORRECTIONS NOTED [ | SUBMIT SPECIFIED ITEM

Checking does not relieve the contractor of the responsibility for

errors and omissions in the submittal or for fabrication,

installation or safety methods, verification of dimensions and

quantities, or the coordination with other aspects of the work.
DATE: 03/24/2023 BY: ELD

%’ MILLER CONSULTING ENGINEERS, INC.

11/4"PIPE XS

PL ]/4")(3”\ |

|; KN I KR |
e
4 - - <

1/ MIN

L] [ 1

(3) 8d NAILS AT 6" OC

DETAIL F
HANDRAIL CONNECTION AT SLAB

2X6 WALL FRAMING
/ 11/4"PIPEXS

3/4" PIPE STD

2X-@1/4X3" SIMPSON SDS SCREWS
TO 4X8 DF-L#2 BLOCKING
W/SIMPSON HUC48 HANGER EA END

C12X20.7
o ¥ : r\L3X3Xl/4 :
e ||||||||||||||| |
@
\\
\\\
o
DETAILH
TRINGER NNECTION AT Wi D FRAMIN

R 3/ n 1137w
41" /g 2/ 1-8" /s

DOOR S\LL>(

6R@6-5/8" = 3‘—334“

2X-@1/4X6" SIMPSON SDS SCREWS TO
4X12 DF-L#2 BLOCKING W/ SIMPSON
A35 CLIP EA END, EA SIDE, (4) TOTAL

1/2X24" LONG PLYWOOD BLOCKING,

(2X) SIMPSON A35 AT EA SIDE OF
SLEEPER W/(12) PH612I TO ROOF &
(12) 8D NAILS TO SLEEPER (TYP)

=
&
IR
w
SECTION A-A
REF: 1/Aé11
F%s"
11/4" PIPE XS
< |
A |

S
° A % 3/16X11W4X2 BAR GRATING TREAD
RS
X

2X-@3/8" BOLTS EA END OF TREAD

2X-@1/4X6" SIMPSON SDS SCREWS TO
4X12 DF-L#2 BLOCKING W/ SIMPSON
A35 CLIP EA END, EA SIDE, (4) TOTAL

1/2X24" LONG PLYWOOD BLOCKING,

(3) 8d NAILS AT 6" OC

DETAIL G
STRINGER CONNECTION AT SLAB

3 SIDES
3/1

L3X3X1/4

@ 1/4X3-1/2" SIMPSON SDS SCREWS

11/4"PIPE STD
//1 1/4" PIPE XS/] 1/4" PIPE XS

11/4' PIPE STD
o
Bl
197"
B Céx8.2
e
11/4" PIPEXS 2
<
ks 11/4"PIPE XS
= [
Lol
C6x8.2 |
1 1/4°PIPEXS MCNICHOLS 1 1/2'4 3/4"
GRIPSTRUT, STD 14 GA END
PLATE W/ 3/8" THRU BOLTS
1 1/4" PIPE STD
g
s
1273, )
% c6x8.2 Rl
1 1/4" PIPE XS C It'y Of Portland
Revieved for Code Compliance
C6X8.2
Date] 04/10/23
Y, v Permit #:
22+132483-DFS-01-CO
-
z
o
> -
11/4"|PIPE XS
72°
i \
7
SECTION B-B
REF: 9/A960

/ MIN 4X6 SLEEPER AT EA LADDER LEG - ADD

BLOCKING BTWN SLEEPERS TO MATCH

ROOF JOIST PER PLAN
ROOF JOIST PER PLAN

OTE: ADJACENT ROOF JOISTS
TO BE DESIGNED FOR LOADING
FROM CROSSOVER LADDER

1.0D = 400LB
1.0L = 250LB

DETALC
IYP CONNECTION AT ROOF

N 3 SIDES
and/ )
2X-@3/8" BOLTS EA END OF TREAD DETALE
TYP AT MITER
DETAILD
LR READ DETAIL REV DESCRIPTION DATE
A | FORAPPROVAL 02/23/2023
PROJECT
NWN RESOURCE CENTER
CONTRACTOR BREM'K DETAILER SUPER'OR WEST
DR BY CHK BY JOB # DWG NO PRJ MGR
TSP EOS5 JON CONNER

PLOT DATE: 3/6/2023




e 4

R

—_ 43—

Bl

S

Y N SN SRS N .

L

- —— — ) — — —

Cﬁn

>
| S

26"

e ———

=

11"

9%
].731%6..
/p137
- /pi40
O
® i40
pi36 PN
3 SIDES
TYP N
L —
&/ ch21 \@
71.57°
ch22
a9
TYP
)
®
1l
R
o
®
o
h
:\O
A
2X- @ 3/8" THRU BOLTS
3, EA END OF TREAD (TYP)
TYP
/
o
=
“i& < x3
=~/ pi3s
71.57°
1
LN
a9 .
3-114" 1-8"

e

3 SIDES

SECTION A-A

3nd/

TYP

MARK DESCRIPTION WIDTH LENGTH MATERIAL | WEIGHT | QTY REMARK
WA 3/8" WASHER 13/16" 13/16" F436 001 | 79
mp11 |1 VZXESMATORPT 4374 26" STEEL 20
ch20 C6X8.2 6" 13-9 1/2" A36 110 ]
ch21 C6X8.2 6 197/16" A36 12 1
ch22 C6X8.2 6 2-15/16" A36 15 ]
ch23 C6X8.2 6 13-9 172" A36 110 1
ch24 C6X8.2 6" 2-15/16" A36 15 ]
ch25 C6X8.2 6 197/16" A36 12 1
a9 L3X3X1/4 3" 3" A36 ] 4
pi35 1 1/4" PIPE XS 111/16" 1-13/16" A53B 3 4
pi36 1 1/4" PIPE XS 111/16" 1671 1/4" A53B 48 2
pi37 1 1/4" PIPE XS 13/4" 19 1/8" A53B 5 2
0i38 1 1/4" PIPE XS 111/16" 4-51/16" A53B 13 2
pi39 1 1/4" PIPE XS 111/16" T A53B 3 6
pi40 1 1/4" PIPE XS 111/16" 3-43/16 A53B 10 4
BOLT 3/8'BOLT 3/8" 11/4" A307 006 | 80
NUT 3/8"NUT 9/16" 5/8" A563 0014 | 79

City of Portland

NOTE: FIELD VERIFY ALL DIMENSIONS BEFORE FABRICATION

%’

This review is only for general conformance with the design
concept of the project and with the information given in the
contract documents.

[X] NO EXCEPTIONS TAKEN

I:l MAKE CORRECTIONS NOTED I:l SUBMIT SPECIFIED ITEM
Checking does not relieve the contractor of the responsibility for
errors and omissions in the submittal or for fabrication,
installation or safety methods, verification of dimensions and
quantities, or the coordination with other aspects of the work.

DATE: 03/24/2023 BY: ELD

(] REVISE & RESUBMIT

MILLER CONSULTING ENGINEERS, INC.

QTY:

M9 MCE PROJECT 230196

Reviewed for Code Compliance

Date: 04/10/23

Permit #:
22-132483-DFS-01-CO

MILLER

CONSULTING
ENGINEERS

| EXPIRES: 6-30-2024 |

STRUCTURAL ONLY

TIMBERLAND

PROJECT REFERENCE
NWN RESOURCE CENTER
Ry A o ™ ROOF LADDER ST NONE
ICONTRACTOR WEIGHT DETAILER
REMIK 570 LBS SUPERIOR WEST
DR BY CHK BY JOB # DWG NO PRJ MGR
TSP M9 JON CONNER

PLOT DATE: 2/24/2023



. A/Il

™%
e

L

MARK DESCRIPTION WIDTH LENGTH MATERIAL | WEIGHT | QTY REMARK
ch18 C12X20.7 1 6'-1/16" A36 110 1
ch19 C12X20.7 1 6'-1/16" A36 110 1
mp10 3/16X11TW4X2 BAR GRATING TREAD 1'-1/8" 4 ASTM A36 93 5
BOLT 3/8" BOLT 3/8" 11/4" A307 0.06 20
NUT 3/8" NUT 9/16" 5/8" AS563 0.014 20
WA 3/8" WASHER 13/16" 13/16" F436 0.01 20
a2 L3X3X1/4 3" 6" A36 2 2
pll PL 1/4'X2 15/16" 215/16" 71/8" A36 1
a8 L3X3X1/4 3" 6" A36 2
4-10%" 4-10%"
4 3 3-8 VA 1% 3-8 3
A =8 =D
: : o : a8 a8
I | g : ;-l, Ix: {ch]?
| |
i '|;= ° |
;ﬁ v:,;\chls M D 2X-$3/8"BOLTS EA END OF EA TREAD N !\ﬁ
! | G . &,
T n g P ~ N
| | o~ ° @ - p,r
T ) g " B & p
; b % " o Gity of Portland
= vl 7 e Va
i ; Con / ° ® 7 c 81.06 31.06° ° - ° Reyiewed for Code Compliance
| | —
A= g o2 Date: 04/10/23
SECTION B-B Permit #:
22-132483-DFS-01-CO
SECTION A-A
]1 MILLER
CONSULTING
ENGINEERS
3 SIDES — This review is only for general conformance with the design
R §“{ concept of the project and with the information given in the
cg\f a8 - | contract documents.
ol N NO EXCEPTIONS TAKEN (] REVISE & RESUBMIT
5 I:l MAKE CORRECTIONS NOTED I:l SUBMIT SPECIFIED ITEM
Checking does not relieve the contractor of the responsibility for
B errors and omissions in the submittal or for fabrication,
2X @ %é/ installation or safety methods, verification of dimensions and
— quantities, or the coordination with other aspects of the work.
3 SIDES nd ' DATE: 03/24/2023  BY: ELD
" MILLER CONSULTING ENGINEERS, INC.
@
SECTION C-C l EXPIRES: 6-30-2024 I
SECTION D-D
STRUCTURAL ONLY
QTY: 1 - ST2 MCE PROJECT 230196
PROJECT REFERENCE
NWN RESOURCE CENTER
REV DESCRIPTION DATE ITEM FINISH
A FOR APPROVAL 02/23/2023 STA' RS GALV
(CONTRACTOR WEIGHT DETAILER
REMIK 698 LBS SUPERIOR WEST
DR BY CHK BY JOB # DWG NO PRJ MGR
TSP ST2 JON CONNER

PLOT DATE: 2/24/2023



	001 E05 Connection Details
	002 M9 Section
	003 ST2 Sections

